
�4Dт=еDEк8е DодK 

�4Dт=еDEк8е DодK - Mто DодK E по<оI=8ко<, ко7д4 по<8<о 4куHеDк8, 6D4G4 8 дDу78E 
EотDуд=8ко6 Dоддо<4 6<еEте E Dо6е=8Fе9 6 Dод8лL=о< 74ле пD8EутEт6ует 5л87к89 е9 Gело6ек. 
Ч4Iе 6Eе7о 6 Dол8 т4ко7о "6=еHт4т=о7о" по<оI=8к4 6KEтуп4ет отеF Dе5е=к4: <у6G8=4 по<о74ет 
6е=I8=е 6 пDоFеEEе Dодо6 8 <оD4лL=о, 8 D878GеEк8. &4к8< о5D47о<, Eе<LO пеDе6864ет Mто 
646=е9Hее Eо5Kт8е 6<еEте. 

 

�лO <=о78E 74п4д=KE EтD4= пD4кт8к4 п4Dт=еDEк8E Dодо6 у6е д46=о Eт4л4 DOдо6K< O6ле=8е<. В 
=4Hе9 EтD4=е о=4 5Kл4 DедкоEтLN, пок4 =о6K9 $едеD4лL=K9 74ко= от 21.11.2011 № 323-$� "О5 
оE=о64E оED4=K 7доDо6LO 7D46д4= 6  оEE89Eко9 $едеD4F88" =е ут6еDд8л пD46о "отFу Dе5е=к4 8л8 
8=о<у Gле=у Eе<L8 пD8 =4л8G88 Eо7л4E8O 6е=I8=K 8 E уGето< ее EоEтоO=8O 7доDо6LO 
пD8EутEт6о64тL пD8 Dо6де=88 Dе5е=к4". 

 

�лNEK 8 <8=уEK п4Dт=еDEк8E Dодо6 

 

ВопDоE о п4Dт=еDEк8E Dод4E оGе=L дел8к4т=K9 8 DеH4етEO к46до9 п4Dо9 8=д868ду4лL=о. Од=4ко 
еEтL о5I8е 4D7у<е=тK "74" 8 "пDот86" Dодо6 E по<оI=8ко<, котоDKе =4до о5O74телL=о 
пDо4=4л878Dо64тL. 

 

�о6одK "74" 

 

1. !4<ое 7л46=ое 7деEL - 45EолNт=о ло78G=ое пD46о отF4 уG4Eт6о64тL 6 Eо5Kт88, котоDое O6лOетEO 
ед64 л8 =е E4<K< 646=K< 6 687=8 <олодо9 Eе<L8. �Eл8 6е=I8=4 7доDо64 8 DодK 8дут 
=оD<4лL=о, то =ет пD8G8= 74пDеI4тL <у6у пD8EутEт6о64тL пD8 поO6ле=88 Dе5е=к4 =4 E6ет. 
�4Dт=еDEк8е DодK - Mто =е толLко 6опDоE 7у<4=874F88 <ед8F8=K, т.е. 5олLHе7о у646е=8O к 
п4F8е=ту, откDKтоEт8 8 Gело6еG=оEт8 (куDE <ед8F8=K 6Eе7о <8D4!), =о 8 646=K9 6оEп8т4телL=K9 
D4ктоD длO <олодKE Dод8теле9. �76еEт=о, Gто у <у6G8=, пD8EутEт6уNI8E =4 Dод4E, отFо6Eк89 
8=Eт8=кт пDоEKп4етEO =4<=о7о 5KEтDее. 



 

2.  одK - Mто еEтеEт6е==K9 D8=4л 5еDе<е==оEт8, котоDуN Eо6Dе<е==K9 <у6G8=4 пеDе6864ет 
6<еEте Eо E6ое9 6е=I8=о9, E4<K9 тDуд=K9 Mт4п дол7о7о пут8, котоDK9 о=8 пDоHл8 6<еEте. Ко<у 
6е, к4к =е е<у, 8 Eе9G4E 5KтL опоDо9 8 поддеD6ко9 лN58<о9 6е=I8=е? !е<е9=Kе у7K 5удут 
кDепGе, у646е=8е <у64 к E6ое9 6е=е - E8лL=ее. �е5е7D47л8G=о Mто 8 длO Dе5е=к4. '6е 6 пеD6Kе 
<8=утK 687=8 у <л4де=F4 =4G8=4Nт о5D47о6K64тLEO пE8Eоло78GеEк8е E6O78. !G4Eтл86ое "Dото" 
о5о8E Dод8теле9, 74пеG4тле==ое 6 подEо7=4=88 =о6оDо6де==о7о, 5е7уEло6=о, EK7D4ет 
поло68телL=уN DолL 6 DоD<8Dо64=88 =о6о9 л8G=оEт8. 

 

�о6одK "пDот86" 

 

1. �Eл8 6 Eе<Lе =4пDO6е==4O 4т<оEDеD4, 8 Eо6<еEт=K<8 Dод4<8 6е=I8=4 EоGет "=4к474тL" 
EупDу74, пDоде<о=EтD8Dо646 е<у =4 т4ко< л8G=о< пD8<еDе, ко<у 6 Eе<Lе 686етEO тDуд=ее, =у6=о 
оEт4=о68тL Eе5O, т.к. Mто туп8к, котоDK9 <о6ет пD86еEт8 л8HL к еIе 5олLHе<у D47л4ду 6 
EупDу6еEко9 п4Dе. 

 

2. �у6G8=4 дол6е= пDе6де 6Eе7о E4< 6KD478тL 6ел4=8е пD8EутEт6о64тL =4 Dод4E. �Eл8 о= 5о8тEO 
6D4Gе9, п4д4ет 6 о5<оDок от 68д4 кDо68 - п4Dт=еDEк8е DодK =е длO =е7о, о=, к4к Eл8Hко< 
6пеG4тл8телL=K9, 5удет плоE8< по<оI=8ко< 6 пDоFеEEе Dодо6. Од=4ко упDек4тL е7о 74 Mто =е 
Eледует. Во-пеD6KE, отк47 =е =еEет =8к4ко9 отD8F4телL=о9 E4D4ктеD8Eт8к8 е7о к4к <у64 8 
5удуIе7о отF4. Во-6тоDKE, еEтL <=о7о пD8<еDо6, ко7д4 <олодо9 отеF, отк4746H89EO 
пD8EутEт6о64тL =4 пеD6KE Dод4E E6ое9 6е=K, 5Kл пDекD4E=K< по<оI=8ко< пD8 Dо6де=88 
6тоDо­7о Dе5е=к4. 

 

3. �Eл8 876еEт=4 Eкло==оEтL <у6G8=K 6 тDуд=K9 <о<е=т - от E8лL=KE пеDе6864=89 8л8 
D4EтеDO==оEт8 - о568=OтL 6 пDо8EEодOIе< 6EеE 8 6EO, е7о =у6=о от7о6оD8тL от п4Dт=еDEк8E Dодо6. 
&4ко9 "по<оI=8к" 5удет <еH4тL 6D4Gе5=о9 5D874де, оEо5е==о еEл8 6о 6Dе<O Dодо6 6о7=8к=ут те 
8л8 8=Kе откло=е=8O. О= <о6ет =4G4тL д464тL Eо6етK, =4Eт4864тL =4 =8E, EпоD8тL 8л8 EEоD8тLEO E 
<едпеDEо=4ло<, Gто Eо6еDHе==о =8ко<у =е =у6=о. 

 

4. �елL7O 6оEпD8=8<4тL п4Dт=еDEк8е DодK 8 к4к =екуN <оду, котоDо9 =у6=о =епDе<е==о 
Eоот6етEт6о64тL. �еEOтк8 пD8G8= <о7ут 74Eт468тL 6е=I8=у уEо<=8тLEO 6 пD468лL=оEт8 т4ко7о 
=о6о66еде=8O: =4пD8<еD, кулLтуDоло78GеEк8е 8л8 Dел878о7=Kе Eоо5D46е=8O, т6еDдое 
у5е6де=8е 6е=I8=K, Gто пеDед <у6G8=о9 6Eе7д4 Eледует пDедEт464тL "одето9 E 87олоGк8". 
К4к8<8 5K =8 5Kл8 пD8G8=K, о=8 око=G4телL=K 8 о564ло64=8N =е подле64т. �Eл8 пD8=8<4етEO 
DеHе=8е Dо64тL, к4к 8 5Kло пD8=Oто деEOт8лет8O<8 - толLко 6 окDу6е=88 <едпеDEо=4л4, <у6 
6пеD6Kе у68д8т Dе5е=к4 толLко пD8 6Kп8Eке 87 Dоддо<4. � Mто 5удет т4ко9 6е пDекD4E=K9 
пD47д=8к длO 6Eе9 Eе<L8. 

 

�од7ото6к4 к п4Dт=еDEк8< Dод4< 

 



�о<8<о пол=о9 откDKтоEт8 8 до6еD8O 6 Eе<Lе, =ео5Eод8<KE длO п4Dт=еDEк8E Dодо6, 646=о, 
Gто5K <у6G8=4 пDоHел Eоот6етEт6уNIуN под7ото6ку. КEт4т8, п4п4< о5уGе=8е =4 куDE4E 5удуI8E 
Dод8теле9 д4етEO =4 уд86ле=8е ле7ко - о5л4д4NI8е E8Eте<=K< <KHле=8е< <у6G8=K ед64 л8 =е 
луGHе 6е=I8= по7=4Nт 6Eе пDе<удDоEт8 Mт4по6 пDоEо6де=8O Dодо6. �оло68телL=K9 =4EтDо9, 
пол=4O оE6едо<ле=­=оEтL о то<, Gто пDо8EEод8т 6 ко=кDет=K9 пеD8од Dодо6, 8 пD4кт8GеEк8е 
у<е=8O по<о74тL 6е=I8=е пеDе=еEт8 5олL 8 EтD4д4=8O 6о 6Dе<O Dодо6KE EE64ток - Mто то, Gто 
тDе5уетEO от <у6G8=K 6 Dодо6о< 74ле. 

 

%оDоH8е Dе7улLт4тK д4ет EледуNI89 пDоFеEE: допол=8телL=4O 6EтDеG4 <у64 E 6D4Gо<, котоDK9 
5удет пD8=8<4тL у 6е=I8=K DодK, Gто5K тот еIе D47 о5JOE=8л, 6 Gе< ко=кDет=о 5удут 
74клNG4тLEO Dу=к­F88 "6=еHт4т=о7о" по<оI=8к4. 

 

' 4д<8=8EтD4F88 леGе5=о7о уGDе6де=8O, 6 котоDо< пDедEтоOт п4Dт=еDEк8е DодK, =ео5Eод8<о 
у7=4тL, к4к8е <ед8F8=Eк8е о5Eледо64=8O дол6е= пDо9т8 <у6G8=4, Gто5K е7о допуEт8л8 6 
Dод8лL=K9 74л. Ч4Iе 6Eе7о Mто - DлNоDо7D4D8O, 4=4л87K =4 В�Ч, 7еп4т8т, !��� 8 E8D8л8E. �еDед 
те< к4к еE4тL 6 Dоддо<, =4до пD8=OтL дуH, одетL G8Eтое =86=ее 5елLе 8 67OтL E Eо5о9 =о6Kе 
пл4Eт8ко6Kе т4поGк8. Од=оD47о6K9 коEтN< 8 H4поGку 6Kд4Nт =4 <еEте. �у6=о 74D4=ее EпDоE8тL 
D47DеHе=8O у 4д<8=8EтD4F88 Dоддо<4 6еEт8 Dото- 8л8 68деоEJе<ку. 

 

�о6еде=8е 6 Dод8лL=о< 74ле 

 

1. !4<ое 7л46=ое - Mто по78т86=K9 =4EтDо9 <олодо7о отF4. !ледует по<=8тL, Gто 6е=I8=е =у6=4 
пDе6де 6Eе7о пE8Eоло78GеEк4O под­деD6к4. ВEе 5оле6Kе оIуIе=8O, котоDKе 6 Mту <8=уту к46утEO 
е9 =е6K=оE8<K<8, 745удутEO оGе=L EкоDо. �у6=о под54дD864тL 6е=у, о5=8<4тL ее 8 =е Eкуп8тLEO 
=4 л4Eко6Kе Eло64. От =епD8Oт=KE оIуIе=89 <о6=о от6леGL D477о6оD4<8 8 Hутко9. 

 

2. �у6=о 6=8<4телL=о EлуH4тL 6е=у 8 дел4тL то, Gто о=4 пDоE8т, - попD46лOтL подуHку, 6Kт8D4тL 
е9 ло5 полоте=Fе<, еEл8 6D4G8 D47DеH4т, по<оGL по<KтLEO под дуHе<, дел4тL е9 <4EE46 
поOE=8FK, к4к уG8л8 =4 куDE4E, по<о74тL Dо6=о дKH4тL. 

 

3. �у6=о 5KтL 7ото6K< к пеDе<е=4< =4EтDое=8O Dо6е=8FK, =8к4к =е Dе478Dо64тL =4 =8E 8 =8 6 
кое< EлуG4е =е EпоD8тL. 

 

4. �у6=о ок474тL 6е=I8=е D878GеEкуN поддеD6ку. �Eл8 е9 удо5=ее 6 к4ко9-то <о<е=т по68E=утL 
=4 Dуке <у64, Eледует д4тL е9 Mту 6о7<о6=оEтL, Eт4тL длO =ее опоDо9 6 пDO<о< E<KEле Eло64. 

 

5. �ео5Eод8<о =45лNд4тL 74 D45ото9 6D4Gе9 8 74 те<, Gто5K 6е=I8=4 Gетко 6Kпол=Oл4 6Eе 8E 
ко<4=дK. %оDоH4O пD4кт8к4 – по6тоDOтL е9 ко<4=дK 4куHеDк8, 4 т4к6е по G4E4< 74Eек4тL 6Dе<O 
<е6ду EE64тк4<8 8 Eоо5I4тL о5 Mто< <едпеDEо=4лу. !8дO у 877оло6LO 6е=I8=K <о6=о E4<о<у 
=4DоG8то дKH4тL т4к, к4к тDе5ует дKH4тL от 6е=I8=K 6D4G. 



 

�4Dт=еDEк8е DодK 6о7<о6=K толLко 6 8=д868ду4лL=о< Dод8лL=о< 74ле, поMто<у о 6о7<о6=оEт8 
Dо64тL т4к8< о5D47ок 6 ко=кDет=о< Dоддо<е =ео5Eод8<о у7=464тL у 4д<8=8EтD4F89 леGе5=о7о 
уGDе6де=8O. 


